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6.3 +18

@® 0.35+18=6.3 35x18=6.3

@
® 35x18=63 @)0.35x 18 =63
® 0.035x 18 = 6.3

B

6.3 +18 =0.35

U 217E0 Q) YAl o] AAtAl>

(B) x (e F) = (FrolAE 4) dudh
whabA] 6.3 + 18 = 0.35 9] HAHA S

0.35x 18 = 6.3 YUt}
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D 96+24-1.2 @ 96+24+1.2

® 9.6-1.2+24 @(9.6—1.2) +24
® (9.6+1.2)+24

& o] o] A= 7S] FAI7F 9.6 kg ol AFH .
WSl FA7E 1.2kg € W, 25 F B FAE B kg AA]
[e)

S35 249 £ 9.6 - 1.2 = 8.4(kg)
S 13O 271 8.4 +24 = 0.35(kg)
e ke A2 (9.6 -1.2) = 24 JU .
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oFe % ol 18+ 24 O] B3 THE AL 26,

D 9+12 @ 6+8

@ 30+ 40 ® 48 + 64

B

18+24=3+4=0.75
D9+12=3+4=0.75
@6+8=3+4=0.75
®10+16=5+8=0.625
@30+40=3+4=0.75
®48+64=3+4=0.75
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@ 205 cm @ 1?1? cm ® 105 cm
@5E cm ® 2% cm
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65 x12=[ |x(12+3)
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51 1
D:1—0:51—0 (cm)
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Aol 7tz o] Zoj WH o] et ZEyct
=, 45cm + 5 =9(cm)

AMNEAA 9em Q1 A=o] 16700 2=

9% 16 = 144( cm)

144 4+ (]x2) = 198(cm)

= (198 — 144) + 2 = 27(cm)
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